## SUPPLEMENTAL INTERLOCAL CONTRACT NO. 1 HUALAPAI WAY RUSSELL ROAD TO FLAMINGO ROAD

THIS SUPPLEMENTAL INTERLOCAL CONTRACT NO. 1 is made and entered into this 14<sup>TH</sup> day of April 2022, by and between Clark County, a political subdivision, hereinafter referred to as "COUNTY" and the Regional Transportation Commission of Southern Nevada, hereinafter referred to as "RTC." The COUNTY and RTC are collectively referred as the "PARTIES."

## WITNESSETH

WHEREAS, the RTC approved Interlocal Contract #1343 dated December 9, 2021, for improvements to Hualapai Way, Russell Road to Flamingo Road, hereinafter referred to as "PROJECT," located wholly within Clark County; and

WHEREAS, Nevada Revised Statutes (NRS) Chapter 277.180 authorizes any one or more public agencies to contract with any one or more other public agencies to perform any governmental services, activity or undertaking which any of the public agencies entering into the agreement is authorized by law to perform and refers to such as an interlocal contract; and

**WHEREAS**, the COUNTY agrees to conform to the current RTC Policies and Procedures, as amended and incorporated herein by reference; and

WHEREAS, the COUNTY wishes to increase total PROJECT funding; and

**NOW, THEREFORE**, in consideration of the covenants, conditions, agreements, and promises of the PARTIES hereto, the PARTIES agree to proceed as follows:

## **SECTION I: SCOPE OF PROJECT; shall be revised to read as follows:**

This interlocal contract applies to pavement rehabilitation on Hualapai Way between Russell Road and Flamingo Road. Improvements include curb to curb removal of the top one inch of the existing asphalt surface and replacement with one inch of ultra thin asphalt concrete surfacing (UTACS) and construction of raised median islands throughout the project limits. Additional improvements include utility adjustments, signing and pavement marking upgrades, intelligent transportation system (ITS) infrastructure, light emitting diode (LED), street light upgrades, traffic signal modifications, American with Disabilities Act (ADA) compliant accessible curb ramps, and other necessary appurtenances required for a complete and serviceable project. The pavement rehabilitation on Flamingo Road between Hualapai Way and Grand Canyon Drive consists of curb to curb removal of the top one inch of existing asphalt surface and replacement with one inch of UTACS.

## SECTION II: PROJECT COSTS; Paragraphs 1 and 2 shall be revised to read as follows:

1. The total cost for this contract shall not exceed \$8,000,000.00.

- 2. Authorizations to Proceed (ATP) are granted as follows:
  - a. ENGINEERING not to exceed \$0.00
  - b. RIGHT-OF-WAY not to exceed \$0.00
  - c. CONSTRUCTION not to exceed \$8,000,000.00

The remainder of Interlocal Contract #1343 dated December 9, 2021, shall remain unchanged.

The remainder of this page is left intentionally blank.

the date first set forth above: Date of Commission Action: REGIONAL TRANSPORTATION COMMISSION Debra March April 14, 2022 DEBRA MARCH, Chairwoman Attest: DocuSigned by: Marie DuBois MARIN DUBOIS, Management Analyst Approved as to Form: RTC Legal Counsel Date of Council Action: CLARK COUNTY BOARD OF COMMISSIONERS BY: JAMES B. GIBSON Chair Attest LYNN MARIE GOYA County Clerk Approved as to Form Deputy District Attorney

IN WITNESS WHEREOF, this Supplemental Interlocal Contract No. 1 is effective as of

Project Name: Hualapai Way - Russell Road to Flamingo Road, Pavement Rehabilitation & Flamingo

**Project Number: R130CFT** 

**BID ABSTRACT** 

Bid Number:

**FUNDING ESTIMATE** 

**Opening Date:** 

10/20/2021

L Number: L-2280 & L-2368

Preliminary Cost Estimate \$6,585,452.88

Design Division Work Order Number: 2020-002 & 2021-028

				Engineer's Estimate	
Item No.	Description	Quantity	Unit	Unit Price	Amount
105.01	QUALITY CONTROL ADMINISTRATIVE INCENTIVE	1	LS	\$50,000.00	\$50,000.00
107.01	TRAFFIC CONTROL	1	LS	\$250,000.00	\$250,000.00
109.01	CONSTRUCTION CONFLICTS AND ADDITIONAL WORK	1	LS	\$47,440.00	\$47,440.00
109.02	HISTORICAL OWNER CAUSED DELAY ALLOWANCE	5	DAY	\$500.00	\$2,500.00
109.03	ADDITIONAL AMOUNT OVER \$1,200/DAY AS DETERMINED BY BIDDER	2	DAY	\$2,500.00	\$5,000.00
200.01	MOBILIZATION	1	LS	\$500,000.00	\$500,000.00
202.00	REMOVE TACK-ON MEDIAN ISLAND	1,200	SF	\$10.00	\$12,000.00
202.01	REMOVE CONCRETE SIDEWALK AND RAMPS	1,300	SF	\$8.00	\$10,400.00
202.02	REMOVE EXISTING CURB AND GUTTER	220	LF	\$10.00	\$2,200.00
212.01	3/4" DESERT GOLD LANDSCAPE DECORATIVE ROCK (3-INCH DEPTH)	72,000	SF	\$5.00	\$360,000.00
217.01	COLD PLANING (FINE MILLING) 1-INCH	152,000	SY	\$7.00	\$1,064,000.00
413.01	1-INCH ULTRA-THIN ASPHALT CONCRETE SURFACE (UTACS) BONDED WITH PMM	152,000	SY	\$12.00	\$1,824,000.00
609.01	VERTICAL ADJUST STORM DRAIN MANHOLE TO FINISH GRADE	27	EA	\$1,400.00	\$37,800.00
613.01	TYPE "A" CONCRETE ISLAND CURB	15,500	LF	\$20.15	\$312,325.00
613.02	4-INCH CONCRETE SLAB MEDIAN ISLAND SURFACE	6,700	SF	\$12.00	\$80,400.00
613.03	CONCRETE SIDEWALK / SIDEWALK RAMP	1,300	SF	\$15.00	\$19,500.00
613.04	DETECTABLE WARNING PANEL	9	EΑ	\$410.00	\$3,690.00
619.01	K-71 SELF ERECTING MARKER POST (YELLOW)	30	EA	\$240.00	\$7,200.00
621.01	ADJUST SURVEY MONUMENT	8	EA	\$1,000.00	\$8,000.00
623.01	3-INCH CONDUIT	1,300	LF	\$30.00	\$39,000.00
623.02	4-INCH CONDUIT WITH PULL ROPE IN TRENCH (FIBER OPTIC)	22,600	LF	\$33.50	\$757,100.00
623.03	LOOP LEAD-IN CABLE	1,300	LF	\$2.00	\$2,600.00
623.04	LOOP DETECTOR (6' X 6')	49	EA	\$900.00	\$44,100.00
623.05	LOOP DETECTOR (6' X 30')	18	EA	\$1,600.00	\$28,800.00

Page 3-pf8ject Name: Hualapai Way - Russell Road to Flamingo Road, Pavement Rehabilitation & Flamingo

Project Number: R130CFT BID ABSTRACT

Bid Number: <u>FUNDING ESTIMATE</u>

Opening Date: 10/20/2021

L Number: L-2280 & L-2368

Preliminary Cost Estimate \$6,585,452.88

Design Division Work Order Number: 2020-002 & 2021-028

				Engineer's Estimate		
Item No.	Description	Quantity	Unit	Unit Price	Amount	
623.06	RETROFLECTIVE BACKPLATE FOR EXISTING TRAFFIC SIGNAL HEAD	59	EA	\$500.00	\$29,500.00	
623.07	REPLACE HPS LUMINAIRE WITH LED LUMINAIRE	199	EA	\$650.00	\$129,350.00	
623.08	NO. 5 PULLBOX	11	EA	\$1,500.00	\$16,500.00	
623.09	P-30 PULLBOX	20	EA	\$1,300.00	\$26,000.00	
623.10	TRAFFIC SIGNAL SYSTEM HUALAPAI WAY AT TROPICANA AVENUE	1	LS	\$20,000.00	\$20,000.00	
623.11	TRAFFIC SIGNAL SYSTEM HUALAPAI WAY AT FLAMINGO ROAD	1	LS	\$20,000.00	\$20,000.00	
623.12	TRAFFIC SIGNAL SYSTEM FLAMINGO ROAD AT GRAND CANYON DRIVE	1	LS	\$20,000.00	\$20,000.00	
623.14	6PR PE39 #22 AWG CABLE	11,300	LF	\$1.50	\$16,950.00	
623.15	INSPECT TRAFFIC SIGNAL POLES AND STREET LIGHT BOLTS	1	LS	\$4,100.00	\$4,100.00	
626.01	FINAL CLEANUP	1	LS	\$25,000.00	\$25,000.00	
627.01	REMOVE AND SALVAGE EXISTING POST	1	EA	\$100.00	\$100.00	
627.02	REMOVE AND SALVAGE EXISTING SIGN PANEL	4	EA	\$100.00	\$400.00	
627.03	INSTALL NEW PERMANENT SIGN PANEL (R2-1)(45)(30X36)	1	EA	\$225.00	\$225.00	
628.01	TYPE 2 PAVEMENT MARKING FILM (CHEVRON, CROSSWALK, STOPBAR)(24 INCH, WHITE)	7,695	SF	\$10.00	\$76,950.00	
628.02	TYPE 2 PAVEMENT MARKING FILM (TRANSITION) YELLOW	270	SF	\$10.00	\$2,700.00	
628.03	TYPE 2 PERMANENT PAVEMENT MARKING FILM (LEFT/RIGHT ARROWS)	99	EA	\$300.00	\$29,565.00	
628.04	REFLECTIVE YELLOW MEDIAN ISLAND PAINT	554	SF	\$5.00	\$2,767.50	
628.05	TYPE 2 PAVEMENT MARKING FILM ("ONLY" LEGEND)	1	EA	\$300.00	\$300.00	
628.06	6-INCH SOLID WHITE LINE THERMOPLASTIC	11,543	LF	\$5.00	\$57,712.50	
629.01	VERTICALLY ADJUST WATER VALVE BOX TO FINISH GRADE	64	EA	\$1,000.00	\$63,800.00	
629.02	VERTICALLY ADJUST WATER VAULT MANHOLE TO FINISH GRADE	14	EA	\$1,500.00	\$21,450.00	
629.03	VERTICALLY ADJUST WATER BLOW-OFF ASSEMBLY	11	EA	\$1,800.00	\$19,800.00	
630.02	ADJUST SANITARY SEWER MANHOLE TO FINISH GRADE AND APPLY CORROSION PROTECTION	12	EA	\$2,700.00	\$32,670.00	
633.01	NON-REFLECTIVE RAISED PAVEMENT MARKERS	5,670	ΕA	\$3.00	\$17,010.00	

Page 4-pf 8 ect Name: Hualapai Way - Russell Road to Flamingo Road, Pavement Rehabilitation & Flamingo

Project Number: R130CFT BID ABSTRACT

Bid Number: FUNDING ESTIMATE

Opening Date: 10/20/2021

L Number: L-2280 & L-2368

Preliminary Cost Estimate \$6,585,452.88

Design Division Work Order Number: 2020-002 & 2021-028

				Engineer's Estimate		
Item No.	Description	Quantity	Unit	Unit Price	Amount	
633.02	REFLECTIVE RAISED PAVEMENT MARKERS	2,160	ΕA	\$4.00	\$8,640.00	
633.03	360 DEGREE ROUND GLASS REFLECTIVE MARKERS	207	EA	\$70.00	\$14,518.00	
633.04	REFLECTIVE RAISED PAVEMENT MARKERS (TYPE C) ON MEDIAN NOSE	1,041	EA	\$4.00	\$4,164.88	
635.01	ADJUST ELECTRICAL MANHOLE TO FINISH GRADE	10	EΑ	\$2,750.00	\$27,225.00	
637.01	DUST CONTROL	200	DAY	\$2,000.00	\$400,000.00	
637.02	STORM WATER POLLUTION CONTROL	200	DAY	\$150.00	\$30,000.00	
680.01	144 STRAND FIBER OPTIC CABLE	11,300	LF	\$45.00	\$508,500.00	
ACTUAL TOTAL OF ITEMS				\$6,585,452.88		